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IBPS PO (Pre)  

TEST SERIES -01 
Direction (1-5) : Study the following arrangement carefully and answer 
the questions given below: 
fuEufyf[kr tkudkjh dk vè;;u dhft, vkSj fuEufyf[kr iz'uksa ds mÙkj nsa& 

There are eight wrestlers A, B, C, D, V, W, X and Y having tattoo of 
different colours i.e - Orange, Black, Yellow, Red, Purple, White, Green 
and Pink but not necessarily in the same order, are standing around a 
circular ring. Male  wrestler fights with male and female with female 
wrestler. All the wrestlers are standing in front of each other  according to 
their pair. Wrestler C is a male having Black tattoo, fights with X who is 
standing between two female wrestlers. One having Purple tattoo on her 
backis also on  immediate left of X. Wrestler B fights with the wrestler 
having Orange tattoo. Wrestler having Red tattoo is  standing between 
wrestler having tattoo of Orange and White colours, who are female 
wrestlers. Wrestler X is Standing between wrestler having Orange tattoo 
and Y. C is standing between wrestler D and wrestler having tattoo of Pink 
colour. B fights with W, who is standing in the middle of male wrestler V 
and the wrestler having Green colour tattoo. 

vkB igyoku A, B, C, D, V, W, X rFkk Y ftuds vyx vyx jaxksa tSls 

ukjaxh] dkyk] yky] cSaxuh ] lQsn] gjk rFkk xqykch jax ds VSVw gS] ,d o`Ùkkdkj 

xksys ds pkjksa rjQ [kM+s gS ij vko';d ugha fd blh Øe esaA iq#"k] iq#"k 

igyoku ls yM+rs gS rFkk efgyk] efgyk igyoku ls yM+rh gSaA lHkh igyoku 

bl rjg [kM+s gS fd muds lkeus og igyoku gS ftlls mudh yM+kbZ gksuh gSA 

igyoku C ,d iq#"k gS ftldh VSVw dkyh gSA rFkk mldh yM+kbZ X ls gksuh gS 

tks nks efgyk igyokuksa ds chp esa gSA og] ftldh VSVw caxSuh gS] X ds Bhd ck,a 

gSA igyoku B dh yM+kbZ ukjaxh VSVw okys igyoku ls gksuh gSA yky VSVw okyk 

igyoku] ukjaxh rFkk lQsn VSVWw okys igyoku tks efgyk,a gS ds chp esa [kM+k gSA 

igyoku Xk, ukjaxh VSVw okys igyoku rFkk Y ds chp esa gSA C, igyoku D 

rFkk xqykch VSVw okys igyoku ds chp esa gSA B, W ls yM+rk gS] tks fd V rFkk 
gjs VSVw okys igyoku ds chp esa gSA 

1.  Who is standing between B and D ? 

 B rFkk D ds chp esa dkSu gS \ 

 (1) A (2) C (3) Y (4) W (5) None of these 
2.  Who is having green colour tattoo ? 
 gjs jax dk VSVw fdldk gSA 

 (1) V (2) W (3) X (4) Y (5) Can‟t be determined 
3.  Which of the following shows a pair of wrestlers ?  
 fuEufyf[kr esa ls dkSu igyokuksa ds tksM+s ¼ftudh vkil esa 

 yM+kbZ gS½ dks n'kkZrk gSaA 

 (1) C -Y (2) W – C (3) Y –A (4) W – B (5) None of these 
4.  Who is standing on the immediate left of C? 

 C ds Bhd ck,a dkSu [kMk gSaA 

 (1) B (2) D (3) Y (4) X (5) Can‟t be determined 

5.  Wrestler  standing  between  wrestlers 
having tattoo of Yellow and Black colour 
is________. 
ihys rFkk dkys VSVw okys igyokuksa ds chp dkSu [kMk gSaA  

(1) None (2) Y (3) W (4) D (5) B 

Directions (6-10) : In each question below is given a statement followed 
by two assumptions numbered I and II.  An assumption is something 
supposed or taken for granted.  You have to consider the  statement and 
the following assumptions and  decide which of the assumptions is implicit  
in the statement. 
uhps fn, x, izR;sd iz'u esa ,d dFku fn;k x;k gS vkSj mlds uhps nks 

iwoZ/kkj.kk,a I vkSj II nh xbZ gSA dksbZ ekuh gqbZ ;k x̀ghr ckr iwoZ/kj.kk dgykrh gS 

A vkidks dFku vkSj nh xbZ iwoZ/kj.kkvksa nksuksa  ij fopkj djuk gS  vkSj fQj ;g 

r; djuk gS  fd dkSu&lh iwoZ/kj.kk dFku esa varfuZfgr gS rFkk rc fuf'pr 

dhft, fd (1), (2), (3), (4) vkSj (5) esa ls dkSu&lk mÙkj lgh gS A viuk mÙkj 

nsa & 
Give answer (1) if only assumption I is implicit. 

;fn] dsoy iw.kZ/kj.kk I varfuZfgr gSA 

Give answer (2) if only assumption II is implicit. 

;fn] dsoy iw.kZ/kj.kk II varfuZfgr gSA 
Give answer (3) if either I or II is implicit. 

;fn] ;k rks iw.kZ/kj.kk I ;k II varfuZfgr gSA 

Give answer (4) if neither I nor II is implicit. 

;fn] uk rks iw.kZ/kj.kk I vkSj uk gh II varfuZfgr gSA 

Give answer (5) if both I and II are implicit. 

;fn] nksuksa iw.kZ/kj.kk I ,oa II varfuZfgr gSA 
6. Statement : dFku % 

Aswin‟s mother instructed him to return home by train if it  
rains heavily. 
vf'ou dh ek¡ us mls vf/kd ckfj'k gksus ij ?kj Vsªu ls ykSVus 

dks dgkA 

Assumptions : iw.kZ/kj.kk % 

I. Aswin may not be able to decide himself if it rains  
heavily. 
;fn vf/kd ckfj'k gksrh g]S rks 'kk;n vf'ou [kqn QSlyk ysus esa  

l{ke ugha gS 

II. The trains may ply even if it  rains heavily. 

;fn vf/kd o"kkZ gksrh gS] rks Hkh Vsªus lQj dj ldrh gA 

7. Statement : dFku % 

The Government of India has decided to start a track II  
Hkkjr ljdkj us {ks= esa ruko de djus ds fy, vius iM+kSlh 

dialogue with its neighbour to reduce tension in the area. 
ns'kksa ds lkFk f}rh; Vsªd okrkZ 'kq: djus dk QSlyk fd;k gSA 

Assumptions : iw.kZ/kj.kk % 

I. The neighbouring country may agree to participate in the  
track II dialogue. 

iM+kslh ns'k f}rh; Vsªd okrkZ esa 'kkfey gksus dh rS;kj gks ldrs gSA 

II. The people involved in track II dialogue may be able to  
persuade their respective Governments. 
f}rh; Vsªd okrkZ esa 'kkfey gksus okys O;fDr viuh ljdkj dks  

le>kus esa l{ke gks ldrs gSA 

8. Statement : dFku % 

The hostin one of the popul are T. V. programmes announced that the 
channel will contact the viewers between 9.00 a.m. to 6.00 p.m on 
weekdays and the lucky ones will be given fabulous prizes. 

,d yksfiz; Vh0 oh0 dk;Zdze ds estcku us ;g ?kks’k.kk dh fd pSuy  

dk;Z dk;Z fnolksa esa lqcg 9-00 cts ls 'kke dks 6% 00 cts rd  

n'kZdks ls laidZ djsxk rFkk HkkX;'kkyh yksxksa dks 'kkunkj iq:Ldkj  

fn;k tk;sxkA 

Assumptions : iw.kZ/kj.kk % 

I. The peopl e may remai n i n-doors to receive the phone call. 

yksx Qksu dkWy fjflo djus ds fy, ?kj esa gh jgsaxsA 

II. More people may start watching the programme. 

vkSj vf/kd yksx dk;ZØe ns[kuk 'kq: dj ldrs gSA 

9.  Statement : dFku % 

 Use our product to improve memory of your child, it is based on 
natural herbs and has no harmful side effects‟-Advertisement of a 
Pharmaceutical Company. 

 ,d vkS"k/kh; nok daiuh dk foKkiu&vius cPps dh Lej.k 

'kfDr c<+kus ds fy, gekjs mRiknu dk iz;ksx djsa A ;g 

izkÑfrd tM+h&cwfV;ksa ls cuk gSa rFkk bldk dksbZ nq"izHkko ugha 

gSA 

Assumptions : iw.kZ/kj.kk % 
I.  People generall yopt for a medical product which is useful and has no 

harmful side effects. 

 yksx vkerkSj ij ,slk fpfdRlk mRikn pqurs gS tks mi;ksxh gks 

rFkk ftldk dksbZ nq"izHkko u gksA 
II. Improving memory of child is considered as important by many 

parents. 
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 cPpksa dh Lej.k'kfDr c<+kuk dbZ ekrk&firk ds fy, egRoiw.kZ 

eqík gSA 
10. Statement : dFku % 
The traders of state „D‟ would observe a statewide bandh as the state 

government has failed to meet their demand to resolve sales tax and 
other issues. 

jkT; D ds O;kikfj;ksa us ,d jkT;O;kih can dh ekax dh gS D;ksafd  

jkT; ljdkj mudh fcØh dj rFkk vU; 

Assumptions : iw.kZ/kj.kk % 

I. The traders of  State „D‟ have earlier tried other usual  
procedures to get their problem solved. 

jkT; ‘D’ ds O;kikfj;ksa us viuh leL;kvksa dks gy djus ds fy,  

igys gh nwljh vU; izfØ;ksa dks viuk dj tk¡p fy;kA 
II. The State D's government is not keen to solve the  
problem of traders. 

jkT; ‘D’ dh ljdkj O;kikfj;ks a dh leL;k gy djus dh bPNqd  

ugha gSA 

Directions (11-15) : In each question below aresome statements 
followed by some conclusions. You have to take the given 
statements to be true even if they seem to be at variance with 
commonly known facts and then decide which of the given 
conclusionslogically follows from the given statements,  
disregarding commonly known facts. Give answer 

uhps izR;sd iz'u esa rhu dFku vkSj mlds ckn pkj fu"d"kZ I, II 

vkSj III fn, x, gSaA vkidks fn, x, dFkuksa dks lR; ekuuk gS] Hkys 

gh os loZKkr rF;ksa ls fHkUu izrhr gksrs gksAa lHkh fu"d"kksZa dks if<,+ 

fQj r; dhft, fd fn, x, fu"d"kks± esa dkSu&lk fu"d"kZ fn, x, 

dFkuksa dk rdZlaxr :i ls vuqlj.k djrk gS] pkgs loZKkr rF; 

dqN Hkh gksaA 

11. Statement : dFku % 

Some mirrors are combs. 

dqN niZ.k da?ks gSA 

All tables are chairs. 

lHkh est dqlhZ gSA 

Some lamps are mirrors. 

dqN ySEi niZ.k gSA 

All chairs are lamps. 

lHkh dqlhZ ySEi gSA 

Conclusion : fu’d’kZ % 
I. Some lamps are tables. 

dqN ySEi est gSA 

II. Some lamps are combs. 

dqN ySEi da?ks gSA 

III. Some mirrors are chairs. 

dqN niZ.k dqlhZ gSA 

(1) Only I follows dsoy I vuqlj.k djrk gSA 

(2) Only I and II follow dsoy I ,oa II vuqlj.k djrk gSA 

(3) Only I and III follow dsoy I ,oa III djrk gSaA  

(4) All I, II and III follow lHkh I, II ,oa III vuqlj.k djrs gSA 

(5) None of these buesa ls dksbZ ugha 

12. Statement : dFku % 

Some pins are roses. 

dqN fiu xqykc gSA 

Some roses are books. 

dqN xqykc fdrkc gSA 

Some roses are pens. 

dqN xqykc dye gSA 

No pen is ink. 

dksbZ dye L;kgh ugha gSA 

Conclusion : 
I. Some books are pens. 

dqN fdrkc dye 
II. No book is a pen. 

dksbZ fdrkc dye ugha gSaA 

III. No ink is a rose. 

dksbZ L;kgh xqykc ugha gSA 
(1) None follows (2) Only I follows 
(3) Only II follows (4) Only III follows 

(5) Only either I or II follows 

13. Statement : dFku % 

Some copies are files. 

dqN dk¡ih Qkby gSA 

Some files are folders. 

dqN Qkby QksYMj gSA 

Some folders are scales. 

dqN QksYM Ldsy gSA 

Some scales are rubbers. 

dqN QksYMj dk¡ih gS 

Conclusion : fu’d’kZ % 
I. Some rubbers are folders. 

dqN jcj QksYMj gSA 

II. Some folders are copies. 

dqN QksYMj dk¡ih gSA 

III. Some copies being rubbers is a possibility. 

dqN dk¡ih ds jcj gksus dh laHkkouk gSA 

(1) Only III follows dsoy III vuqlj.k djrk gSA 

(2) Only I and II follow dsoy I ,oa II vuqlj.k djrk gSA 

(3) Only I and III follow dsoy I ,oa III vuqlj.k djrk gSA 

(4) Only II and III follow dsoy II ,oa III vuqlj.k djrk gSA 

(5) All follow lHkh vuqlj.k djrs gSA 

14. Statement : dFku % 

All mugs are cups. 

lHkh ex di gSA 

All cups are jars. 

lHkh di tkj gSA 

All jars are tubs. 

lHkh tkj Vc gSA 

All tubs are brushes. 

lHkh Vc cz'k gSA 

Conclusion : fu’d’kZ % 
I. All mugs are tubs. 

lHkh ex Vc gSA 
II. All jars being cups is a possibility. 

lHkh tkj ds di gksus dh laHkkouk gSA 

III. Some tubs are cups 

dqN Vc di gSA 

(1) Only I and III follows dsoy I ,oa III vuqlj.k djrk gSA 

(2) Only I and II follow dsoy I ,oa II vuqlj.k djrk gSA 

(3) Only II and III follow dsoy II ,oa III vuqlj.k djrk gSA  

(4) None follows dksbZ vuqlj.k ugha djrk gSA 

(5) All follow lHkh vuqlj.k djrs gSA 

15. Statement : dFku % 

All fans are lights. 

lHkh ia[ks fctyh gSA 

All lights are bulbs. 

lHkh fctyh cYc gSA 

All wires are bulbs. 

lHkh rkj cYc gSA 

Some watches are fans. 

dqN ?kfM+;k ia[ks gSA 

Conclusion : fu’d’kZ % 

I. Some bulbs are lights. 
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dqN cYc fctyh gSA 

II. Some wires are lights. 

dqN rkj fctyh gSA 

III. Some wires are fans. 

dqN rkj ia[ks gSA 

(1) Only I and III follows dsoy I ,oa III vuqlj.k djrk gSA  

(2) Only I and II follow dsoy I vuqlj.k djrk gSA 

(3) Only III follows dsoy III vuqlj.k djrk gSA 

(4) All follow lHkh vuqlj.k djrs gSA 

(5) None follows dksbZ vuqlj.k ugha djrk gSA 

Direction (16-20) : Study the following arrangement  
carefully and answer the questions given below: 

fuEufyf[kr tkudkjh dk vè;;u dhft, vkSj fuEufyf[kr iz'uksa ds  

mÙkj nsa& 

A word and number arrangement machine when given an  
input line of words and numbers rearranges them following  
a particular rule in each step. The following is an  
illustration of input and rearrangement. (All the numbers  
given in the arrangement are two digit numbers). 

dksbZ 'kCn vFkok la[;k iqu% O;oLFkkiu e'khu ,d buiqV ykbu  

¼'kCn vkSj la[;k½ Mkyus ij og mUgsa ,d fuf'pr fu;e dk  

vuqdj.k djrs gq, O;ofLFkr djrh gSA ,d buiqV vkSj mldh iqu% 

O;oLFkk uhps nh x;h gSA ¼lHkh la[;k,a nks vadksa okyh la[;k gSa½ 

Input: gone over 35 69 test 72 park 27 
Step I : 27 gone over 35 69 test 72 park 
Step II : 27 test gone over 35 69 72 park 
Step III : 27 test 35 gone over 69 72 park 
Step IV : 27 test 35 park gone over 69 72 
Step V : 27 test 35 park 69 gone over 72 
Step VI : 27 test 35 park 69 over gone 72 
Step VII : 27 test 35 park 69 over 72 gone 
Step VII is the last step of the rearrangement of the  
above  input as the desired arrangement is obtained. As per  
the rules followed in the above steps, find out in each of  
the following questions the appropriate step for the given  
input. 

;g vafre O;oLFkk gS vkSj pj.k VII buiqV dk vafre pj.k 

gSAmijksDr fu;eksa ds vk/kj ij iz'uksa ds fy, muds buiqV ds 

vuqlkj mi;qDr pj.k Kkr djsaA 

16. Input: 86 open shut door 31 49 always 45 How many steps will be 
required to complete the rearrangement? 

buiqV: 86 open shut door 31 49 always 45  

bl iquZO;oLFkk dks iwjk djus ds fy, fdrus pj.kksa dh vko';drk gS \ 

(1) Five  (2) Six(3) Seven (4) Four(5) None of these 
17. Step III of an input: 25 yes 37 enemy joy defeat 52  
46 

,d buiqV dk pj.k III: 25 yes 37 enemy joy defeat 52 46 
fuEufyf[kr esa ls dkSu&lk laHkor% buiqV gksxkA 
(1) enemy 25 joy defeat yes 52 37 46 
(2) 37 enemy 25 joy yes defeat 52 46 
(3) enemy joy defeat 25 52 yes 46 37 

(4) Cannot be determined  fu/kZfjr ugha fd;k tk ldrk 

(5) None of these  buesa ls dksbZ ugh 

18. Step II of an Input: 18 win 71 34 now if victory 61 

How many more steps will he required to complete the  
rearrangement? 

,d buiqV dk pj.k II: 18 win 71 34 now if victory 61 
bl iquZO;oLFkk dks iwjk djus  ds fy, vksj fdrus pj.kks dh  

vko';drk gS \ 
(1) Three  (2) Four(3) Five (4) Six(5) More than six 

19. Input: where 47 59 12 are they going 39 

Which of the following steps will be the last but one? 

buiqV : where 47 59 12 are they going 39 

fuEufyf[kr esa ls dkSu&lk vafre ls ,d igyk pj.k gS \ 
(1) VII  (2) IV (3) V  (4) VIII (5) None of these 

20. Step II of an input: 33 store 81 75 full of goods 52  
Which of the following will be step VI? 

,d buiqV dk pj.k II: 33 store 81 75 full of goods 52 

buesa ls dkSu lk pj.k VI gksxk 
(1) 33 store 52 of 75 81 full goods 
(2) 33 store 52 of 75 full 81 goods 
(3) 33 store 52 of 75 goods 81 full 

(4) There will be no such step ,slk dksbZ pj.k ugha gksxk 

(5) None of these buesa ls dksbZ ugh 

Directions (21-25) : Each of the questions belowconsists of a 
question and two statements labelled I  and II given below 
it. You have to deci de whethert  he data provided in the 
statements are sufficient  to answer the question. Read both 
the statements and give your answer accordingly: 

uhps fn, x, izR;sd iz'u esa ,d iz'u vkSj mlds uhps nks dFku I  

vkSj II fn, x, gSAa vkidks ;g r; djuk gS fd dFkuksa esa fn;s x;s  

vkadM+s iz'u dk mÙkj nus ds fy, i;kIZr gS ;k ugh gSA nksukas dFkuksa  

dks if<,+ vkjS mÙkj nsa& 

(1) If the data in statement I  alone are sufficient to answer  
the question, while the data in statement II alone are not  
sufficient to answer the question. 

;fn dsoy dFku I esa fn;s x;s vkadM+s iz'u dk mÙkj nsus ds fy, i;kIZr gS] 

tcfd dsoy dFku II es fn;s x;s vkadMksa iz”u dk mÙkj nsus ds fy, i;kZIr 

ugha gSA 

(2) If the dat a in statement  II  alone  are sufficient to answer the 
question, while the data in statement I alone are not sufficient to 
answer the question. 

;fn dsoy dFku II esa fn;s x;s vkadM+s iz'u dk mÙkj nsus ds fy, i;kZIr gS] 

tcfd dsoy dFku I esa fn;s x;s vkadM+s iz'u dk mÙkj nsus ds fy, i;kZIr 

ugha gSA 
(3) If  the data in statement  I alone or in statement II alone are sufficient 

to answer the question. 

;fn ;k rks dsoy dFku I ;k dsoy dFku II esa fn;s x;s vkadM+s iz'udk mÙkj nsus 

ds fy, i;kZIr gSA 
(4) If the data in both the statements I and II together are not sufficient 

to answer the question. 

;fn dFku I vkSj dFku II nksuksa dks vkadM+s feykdj Hkh iz'u dk mÙkj nsus ds 

fy, i;kZIr ugha gSA 
(5) If the data in both the statements I and II together  are necessary to 

answer the question 

;fn dFku I vkSj dFku II nksuksa dks vkadM+s feykdj Hkh iz'u dkmÙkj nsus ds fy, 

vko”;d ugha gSA 
21. Among M, P, T, R and W each being of a different age, who is the 

youngest? 

M,P, T,R  rFkk W vyx&vyx vk;q ds gS] esa ls lcls NksVk dkSUk gSaA 

I. T is younger than only P and W. 

T dsoy P rFkk W ls NksVk gSA 

II. M is younger than T and older than R. 

M, T ls NksVk gS ysfdu R ls cM+k gSA 
22. How is „gone‟ written in a code language? 

dksM Hkk"kk esa ‘gone’ dks dSls fy[ksaxs \ 

I. „you will be gone‟, is written as „ka pa ni sa‟ in that code language. 

bl dksM Hkk"kk esa „you will be gone‟, dks „ka pa ni sa‟ fy[krs gSA 

II. „he will be there‟ is written as „ja da ka ni‟ in that code language. 

bl dksM Hkk"kk esa „he will be there‟ dks „ja da ka ni‟ fy[krs gSA 

23. On which day of  the week ( starting on Monday and ending on 
Sunday of the same week) did Karan visit Chennai? 

lIrkg ¼lkseokj ls 'kq: rFkk jfookj dks lekIr½ ds fdl fnu dju  

psUubZ x;k \ 

I. Karan visited Chennai two days after his brother visited Chennai. 
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dju dk HkkbZ ftl fnu psUubZ x;k mlds nks fnu ckn dju psUubZ  

x;kA 

II. Karan did not visit Chennai either on Wednesday or on Friday. 

dju uk rks cq/kokj uk 'kqØokj dks psUubZ x;kA 

24. Towards which direction is Ravi  with respect to the starting point? 

jfo 'kq:vkrh fcUnq ls fdl fn'kk esa gS \ 
I. Ravi walked 20 metres towards east, took a right turn and walked 30 

metres, again took a right turn and walked 20 metres. 
jfo 20 ehVj iwoZ esa pyrk gS] fQj nk,a eqM+ dj 30 ehVj pyrk gSA nksckjk nk,a 

eqM+dj 20 ehVj pyrk gSA 
II. Ravi walked 30 metres towards west, took a left turn and walked 20 

metres , again took a left turn and walked 30 metres. 

jfo 30 ehVj if'pe esa pyrk gS] fiQj ck,a eqM+dj 20 ehVj pyrk  

gS rFkk fQj ls ck,a eqM+dj 30 ehVj pyrk gSA 

25. How is K related to Z? 

K, Z ls fdl izdkj lacaf/kr gS \ 

I. Z and P are the only sisters of D. 

dsoy Z rFkk P, D dh cgusa gSA 

II. D‟s mother is wife of K‟s father. 

D dh ekrk] K ds firk dh iRuh gSA 

Directions (26-30) : In the following questions, the  symbols @, #, %, $ 
and × are used with the  following meaning as illustrated below. 

uhps fn, x, iz'uks es ladsr @, #, %, $ ,oa × tks fofHkUu vFkkZas 

ds fy, iz;ksx fd, x, gSa] uhps fn, x, gSa& 

„A @ B‟ means ‘A is not smaller than B‟ 

„A @ B‟ dk eryc gSa S „A, B ls NksVk ugha gSaA * 

„A # B‟ means „A is neither smaller than nor equal to B‟ 

„A # B‟ dk eryc gS „A, B ls uk rks NksVk gS vkSj uk gh cjkcj gSaA  

„A % B‟ means „A is neither smaller than nor greater than  
B‟ 

„A % B‟ dk eryc gS „A, B ls u rks cMk+ gS vkSj u gh NksVk gSA 

„A $ B‟ means „A is not greater than B‟ 

„A $ B‟ dk eryc g S „A, B ls cM+k ugha gSaA  

„A × B‟ means „A is neither greater than nor equal to B‟ 

„A × B‟ dk eryc gS „A, B l s uk rks cMk+ gS vkSj uk gh cjkcj gSaA 

Now in each of the following questions assuming the given statements to 
be true, find which of the two conclusions I and II given below them 
is/are definitely true? 

uhps fn, x, izR;sd iz'uksa esa fn, x, dFkuksa dks lR; ekurs gq,  

irk yxkb, fd uhps fn; s x, fu"d"kZ I vkjS II eas dkuS lk@dkSu  

ls fu"d"kZ fuf'pr :i ls lR; gS\ 

Give answer 
1. If only Conclusion I is true. 

;fn] dsoy fu"d"kZ I lR; gSA 

2. If only Conclusion II is true. 

;fn] dsoy fu"d"kZ II lR; gSA 

3. If either Conclusion I or II is true. 

;fn] ;k rks I ;k II lR; gSA 

4. If neither Conclusion I nor II is true. 

;fn] u rks I vkSj u gh lR; gSaA 

5. If both Conclusions are true. 

;fn I vkSj II nksuksa lR; gSaA 

26. Statements: dFku % 

M % N, N $ O, O × P, K $ L, L × M 

Conclusion: fu’d’kZ % 

I. P # K 
II. N # K 

27. Statements: dFku % 

C % D, E × F, A # B, D @ E, B # C 

Conclusion: fu’d’kZ % 

I. A × F  II. D @ F 

28. Statements: dFku % 

C % D, E × F, A # B, D @ E, B # C 

Conclusion: fu’d’kZ % 

I. A @ F II. A × F 

29. Statements: dFku % 

X @ Y, V $ W, U × V, W × X, Y % Z 

Conclusion: fu’d’kZ % 

I. X # U  II. Z @ U 

30. Statements: dFku % 

M % N, N $ O, O × P, K $ L, L × M 

Conclusion: fu’d’kZ % 

I. N % K  II. P # K 
Directions (31-35): Study the following information carefully and answer 
the given questions. 
fuEufyf[kr tkudkjh dk vè;;u dhft, vkSj fuEufyf[kr iz'uksa ds mÙkj nsa& 

Seven friends Sahil, Ritu, Apoorv, Neha, Javed, Alka and Lucky studied in 
colleges DAV, SDM and IOP and are currently in different professional 
namely, Medicines, Fashion designing, Engineering, Business, Acting, 
Teaching And Architecture (not necessarily in the same order). At least 
two and not more than three friends had studied in the same college. 
Apoorv is an architect and studied in college SDM. Javed is not a 
businessman. Only lucky amongst the seven friends studied in college 
DAV along with Javed. Alka is an engineer and did not study in college 
SDM. Ritu is an actor and did not study in the same collegeas Alka. Sahil 
did not study in college IOP. Those who  studied in college DAV are 
neither Fashion designers nor teachers. None of those studied in college 
SDM is a teacher. 

lkr fe=k lkfgy] fjrq] viwoZ] usgk] tkosn] vYdk rFkk ydh] DAV, SDM 

rFkk IOP dkWyst esa i<+rs gS rFkk lkFk gh lHkh fofHkUUk is'ks tSls eSfMflUl] 

QS'ku fMtkbfjax] baftfu;fjax] fctusl] vfHku;] vè;kiu rFkk vkfdZVsDpj 

¼vko';d ugha fd leku Øe esa½ esa gSA de ls de nks rFkk vf/d ls vf/kd rhu 

fe=k ,d dkyWst esa i<r+s gSSAviwoZ ,d vkfdZVsDV gS rFkk SDM esa i<+rk gSA 

tkosn fotusleSu ugha gSA lHkh lkr fe=kksa esa fliQZ ydh tkosn ds lkFk DAV 

dkWyst esa i<+rk gSA vYdk ,d baftfu;j gS rFkk SDM dkWyst esa ugha i<+rh 

gSA fjrq ,d vfHkusrk gS rFkk vYdk ds dkWyst esa ugha i<+rk gSA lkfgy IOP 

dkWyst esa ugha gSA tks DAV dkWyst esa gS og u rks QS”ku fMtkbuj gS uk 

vè;kid gSA SDM esa i<+us okyk dksbZ Hkh O;fDr vè;kid ugha gSA 

31.  Who amongst the following have studied in college IOP? 

 fuEufyf[kr esa ls dkSu&dkSu IOP dkWyst esa Ik<+rk gS \ 

 (1) Ritu, Sahil  (2) Apoorv, Alka 
 (3) Ritu, Neha, Alka  (4) Sahil, Neha 
 (5) Neha, Alka 
32.  Which of the following group represents the students of college 

SDM? 

 fuEufyf[kr esa ls dkuS lk legw  SDM ds Nk=ks dks n'kkrZk gSa\ 

 (1) Apoorv, Javed, Lucky (2) Sahil, Apoorv, Neha 
 (3) Sahil, Ritu, Apoorv (4) Neha, Ritu, Apoorv 
 (5) None of these 
33.  What is the profession of Lucky? 

 ydh dk is'kk D;k gS \ 

 (1) Engineering  (2) Business 
 (3) Medicines  (4) Acting 
 (5) None of these 
34.  Who amongst the following is in the profession of medicines? 

 fuEufyf[kr esa ls dkSu esfMflUl ds is'ks esa gS \ 

 (1) Javed  (2) Lucky 
 (3) Sahil  (4) Neha 
 (5) None of these 
35.  Which of the following combination ofperson, college and profession 

is definitely correct? 
 fuEufyf[kr esa ls O;fDr] dkWyst rFkk is'ks dk dkSu lh ;qfDr lgh gS \ 

 (1) Javed – DAV – Fashion Designing 
 (2) Alka – DAV – Engineering 
 (3) Neha – IOP – Teaching 
 (4) Sahil – SDM – Businessman 
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 (5) None of these 
Directions (36–37) : What should come in place of the question 
mark (?) in the following  questions ? 

fuEufyf[kr iz'uksa esa iz'u&fpUg ¼\½ ds LFkku ij D;k vk,xk \ 

36.  40% of 265 + 35% of 180 = 50% of ? 
 (1) 338 (2) 84.5 (3) 253.5 (4) 169 (5) None of these 
37.  460 × 15 – 5 × 200 = ? 
 (1) 92000 (2) 4600 M(3) 1378000 (4) 7000(5) None of these 
Directions (38–40) : What approximate value should come in 
place of the question mark (?) in each of the following question ? 
(You are not expected to find out the exact value.) 

fuEufyf[kr iz'uksa esa iz'u&fpUg ¼\½ ds LFkku ij eku yxHkx D;k  

vk;sxk \ ¼vkidks lVhd eku Kkr ugha djus gSA½ 

38.  1548.45 + 3065.15 ÷ 15.058 = ? 
 (1) 1700 (2) 1650(3) 1840 (4) 1750(5) None of these 

39.  
2

6 of 248.65 = ? of 2398.59
5

  

 (1) 
2

5
 (2) 

1

4
 (3) 

1

2
 (4) 

1

3
 (5) 

2

3
  

40.  39% of 695 = 10% of ? 
 (1) 2800 (2) 2400(3) 3200  (4) 31000 (5) 2500 
Directions (41-45)  :  Study t he graphs to answer these 
questions. 

fn, x, vkjs[k ds vk/kkj ij fuEUfyf[kr iz”uksa ds mRrj nhft,A 

The pie chart shows the percentage of graduate employees in various 
department s of G.C. The bar graph shows the number of employees in 
various department s of  G.C. Other than graduate employees are those 
employees who are either post-graduates or undergraduates. 
bl o`Ùkh; vkjs[k esa th-lh ds fofHkUUk foHkkxksa  esa Lukrd deZpkfj;ks adh la[;k 

dks n'kkZ;k x;k gSA LrEHk vkjs[k th-lh ds fofHkUUk foHkkxksa  esa deZpkfj;ks adh 

la[;k dks n'kkZ;k x;k gSA xSj&Lukrd deZpkfj;ks a ls vfHkizk; LukdksÙkj vFkok 

iwoZLukrd gSA 
Number of graduate employees = 3000 

Lukrd deZpkfj;ksa  dh dqy la[;k  = 3000 

 
Number of employees in various department =  
18000 

 

41. What percentage of other than graduate employees are there in 
Marketing and Design departments together? 

 ekdsZfVax foHkkx vkSj fMtkbZu foHkkx esa fdrus izfr'kr xSj 

Lukrd deZpkjh gSa \ 

 (1) 57.5%  (2) 75.5% 
 (3) 77.5%  (4) 67.5% 
 (5) None of these 
42.  The number of graduate employees in Administration and Production 

together is approximatly how many times other than graduate 
employees in Marketing and Finance together? 

lapkyu foHkkx vkSj mRiknu foHkkx ds dqy Lukrd deZpkfj;ksa 

dh la[;k] ekdsZfVax foÙk foHkkx ds  xSj Lukrd deZpkfj;ksa  ls 

yxHkx fdrus xquk T;knk gSa \ 

 (1) 0.355 (2) 0.290(3) 0.445  (4) 0.215 (5) None of these 
43.  Number of other than graduate employees in Finance and Design 

departments together is what per cent greater than n umber of 
graduate emploees in Administration department? 

foÙk foHkkx vkSj fMtkbZu foHkkx ds xSj Lukrd deZpkfj;ksa dh 

la[;k] lapkyu foHkkx ds Lukrd deZpkfj;ks als fdrus izfr'kr 

T;knk gS \ 

 (1) 933% (2) 666%(3) 533%  (4) 833%(5) None of these 
44. What is the ratio of approximate number of other than graduate 

employees in Finance to graduate employees inAdministration 
department? 

foÙk foHkkx ds  xSj Lukrd deZpkfj;ks a vkSj la pkyu foHkkx 

dsLukrd deZPkfj;ksa dh la[;k (yxHkx) dk vuqikr D;kgksxk\ 

 (1) 1 : 6 (2) 1 : 7(3) 7 : 1 (4) 6 : 1(5) None of these 
45. What is the average of number of graduate employees in Production, 

Marketing, Design and Finance departments ? 

mRikn] ekdsZfVax] fMtkbZu vkSj foÙk foHkkx ds Lukrd 

deZpkfj;ksadh dqy la[;k dk vkSlr D;k gksxk \ 

 (1) 800 (2) 435(3) 1100 (4) 480(5) None of these 
46. In a laboratory, two bottles contain mixture of acid and water in the 

ratio 2 : 5 in the first bottle and 7 : 3 in the second. The ratio in 
which the contents of these two bottles be mixed such that the new 
mixture has acid and water in  the ratio 2 : 3 is-  

 ,d iz;ksx'kkyk esa nks cksry esa ikuh vkSj vEy dk feJ.k j[kk 

gSA igyh cksry esa ikuh vkSj vEy dk vuqikr 2% 5 gS vkSj 

nwljh cksry esa ;g vuqikr 7% 3 gSA ,d rhljh cksry esa nksuksa 

feJ.k dks feykus ij izkIr u, feJ.k esa ikuh vkSj vEy dk 

vuqikr D;k gksxk \ 

 (1) 4 : 15 (2) 9 : 8(3) 21 : 8  (4) 1 : 2(5) None of these 
47. An employer reduces the number of his employees in the ratio 9 : 8 

and increases their wages in the ratio 14 : 15. If the original wage 
bill was Rs. 18,900, find theratio in which the wage bill is decreased-  

 ,d ekfyd us vius deZpkfj;ksa dh la[;k 9% 8 ds vuqikr esa 

de dh vkSj muds osru esa 14% 15 ds vuqikr esa osru esa o`f) 

dhA ;fn ewy osru dk fcy # 18]900 Fkk rks osru fcy esa 

fxjkoV dk vuqikr D;k gksxk \ 

 (1) 20 : 21 (2) 21 : 20 (3) 20 : 19  (4) 19 : 21(5) None of these 
48.  The batting average for 40 innings of a cricketer is 50 runs. His 

highest score exceeds his lowest score by 172 runs. If these two 
innings are excluded, the average of the remaining 38 innings is 48 
runs. The highest score of the player is- 

 ,d f[kykM+h ds 40 ikfj;ksa ds cYysckth dk vkSlr 50 ju FkkA  

 mldk cuk;k x;k vf/kdre ju mlds }kjk cuk;s x, U;wure 

ju ls 172 vf/d gSA ;fn nksuksa ifj;ksa dks gVk nsa rks 'ks"k 38 

ifj;ksa vkSlr 48 ju gksxkA f[kykM+h }kjk cuk;k x;k vf/kdre 

ju fdruk gS \ 

 (1) 165 (2) 170 (3) 172 (4) 174 (5) None of these 
Directions (49–53) : Each of the questions below consists of 
questions and two statements numbered I and II given below it. 
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You have to decide whether the data given in the statements are 
sufficient to answer the questions. Read both the statements and 
give answer. 

uhps fn, x, izR;sd iz'u esa ,d iz'u vkSj mlds uhps nks dFku I vkSj II fn, 
x, gSAa vkidks ;g r; djuk gS fd dFkuksa esa fn;s x;s vkadM+s iz'u dk mÙkj nsus 

ds fy, i;kIZr gS ;k ugh gSaA nksuksa dFkuksa dks if<,+ vkjS & 

(1) If the data in statement I alone are sufficient to answer the question 
while the data in statement II alone are not sufficient to answer the 
question. 

;fn dsoy dFku I esa fn;s x;s vkadM+s iz'u dk mÙkj nsus ds fy, i;kIZr gSa] 

tcfd dsoy dFku II es a fn;s x;s vkadMs iz”u dk mÙkj nsus ds fy, i;kZIr ugha 

gSA 

(2)  If the data in statement II alone are sufficient to answer the question 
while the data in statement I alone are not sufficient to answer the 
question. 

 ;fn dsoy dFku II esa fn;s x;s vkadM+s iz'u dk mÙkj nsus ds fy, i;kZIr 

gS] tcfd dsoy dFku I esa fn;s x;s vkadM+s iz'u dk mÙkj nsus ds fy, 

i;kZIr ugha gSA 

(3)  If the data either in statement I alone or in statement II alone are 
sufficient to answer the question. 

;fn ;k rks dsoy dFku I ;k dsoy dFku II esa fn;s x;s vkadM+s 

iz'u dk mÙkj nsus ds fy, i;kZIr gSA 

(4) If the data given in both statements I and II together are not 
sufficient to answer the question. 

;fn dFku I vkSj dFku II nksuksa dks vkadM+s feykdj Hkh iz'u dk 

mÙkj nsus ds fy, i;kZIr ugha gSA 

(5) If the data in both statements I and II together are necessary to 
answer the question. 

;fn dFku I vkSj dFku II nksuksa dks vkadM+s feydj iz'u dkmÙkj 

nsus ds fy, vko';d gSA 

49. What is the population of a city? 

,d 'kgj dh tula[;k fdruh gS\ 

I. If population growth rate is 10% per year. 

;fn tula[;k dh of̀) nj 10% izfr o"kZ gSA 
II. If one year back its population was 12 lakh. 

;fn ,d o"kZ iwoZ tula[;k 4 yk[k FkhA 
50. What is the rate of simple interest? 

lkèkkj.k C;kt dh nj fdruh gSA 

I. If total interest is Rs 200. 

;fn dqy C;kt dh jkf'k 200 #- gSaA 
II. If amount is invested for 5 years. 

;fn ewyèku dks ikap o"kks± ds fy, fuos'k fd;k x;k gSA 

51. In a party the ratio of male and female is 5 : 3. How many male are 
there? 

,d ikVhZ esa iq#"k vkSj efgyk dk vuqikr 5:3 gSA ikVhZ esaiq#"kksa dh 

la[;k fdruh gS\ 

I. If the total number of male and female are 32. 

;fn ikVhZ esa efgyk vkSj iq#"kksa dh dqy la[;k 32 gSA 
II. If difference between male and female is 8. 

;fn iq#"k vkSj efgykvksa ds la[;k dk varj 8 gSA 
52. Is Rani‟s age less than 8 years? 

D;k jkuh dh vk;q 8 o"kZ ls de gS\ 

I. Subhash‟s age is less than 10 years but he is elder than  
Rani. 

lqHkk"k dh vk;q 10 o"kZ ls de gS] ysfdu og jkuh ls cM+k gSA 

II. Dinesh is 9 years old and younger than Rani. 

fnus'k 9 o"kZ dk gS ,oa jkuh ls NksVk gSA 

53. How many small cubes are hidden inside a big cube? 

,d cM+s ?ku ds vanj fdrus NksVs ?ku Nqis gq, gSa\ 

I. Total number of small cubes used to make a big cube is  
less than 400. 

cM+sa ?ku dks cukus okys NksVs ?kuks a dh la[;k 400 ls de gSA 

II. Total number of small cubes used to make a big cube is  
more than 300.  

cM+s ?ku dks cukus okys NksVs ?kuksa dh la[;k 300 ls vfèkd gSA 

54. If 28 men can complete 7/8 part of a work in 1 week,  
how many men will be required to complete the remaining  
work in the next week? 

;fn 28 O;fDr ,d dke ds 7/8 Hkkx dks 1 lIrkg esa iwjk dj 

ldrs gS rks 'ks"k dke dks vxys lIrkg esa iwjk djus ds fy, fdrus 

vknfe;ksa dh vko';drk gksxh\ 

(1) 5 (2) 6 (3) 4 (4) 3 (5) None of these 
55. 80m and 120m long two trains are running in same  
direction on a parallel track at the speed of 25 km/hr and  
35 km/hr respectively. In how many seconds will they cross  
each other? 

80 eh- vkSj 120 eh- yEch nks jsyxkfM+;ka dh pky ,d lekUrj 

iVfj;ksa ij leku fn'kk esa Øe'k% 25 fdeh@?ka- vkSj 35 fdeh-@?ka- 

dh gSA os ,d nwljs dks fdrus lsds.M esa ikj djsxah\ 

(1) 48 (2) 64 (3) 70 (4) 72 (5) None of these 
56. Out of three numbers, the first number is twice the  
second number and second number is thrice the third  
number. If average of all the three numbers is 20, what 
is the difference between the largest number and the  
smallest number? 

rhu la[;kvksa esa igyh la[;k] nwljh dh nqxquh gS rFkk nwljh l[a;k 

rhljh dh frxuqh gSaA ;fn rhuksa l[a;kvksa dk vklSr 20 gks] rks lcls 

cM+h vkjS lcls NksVh la[;k ds chp vUrj D;k g\S 

(1) 25 (2) 18 (3) 12 (4) 16 (5) None of these 
57. Taps A and B can fill a tank in 10 hours and 12 hours  
respectively and tap C can empty that tank in 6 hours. If all  
the three taps are opened simultaneously, in what time will  
two-third part of the tank be filled?  

uy A vkSj B ,d Vadh dks Øe'k% 10 ?kaVs vkSj 12 ?kaVs esa 

iwjk Hkj ldrs gS rFkk uy C ml Vadh dks 6 ?kVasa es a [kkyh dj 

ldrk gSA ;fn rhuksa uy ,d lkFk [kksy fn, tk;s rks nks&frgkbZ 

Vadh fdrus le; esa Hkj tk;sxh\ 

(1) 45 minutes  (2) 50 minutes 
(3) 35 minutes  (4) 40 minutes 
(5) None of these 
Directions (58–60) : Study the following table  
carefully and answer the questions given below it. 

fuEufyf[kr rkfydk dk lko/kuhiwoZd vè;;u dhft, vkSj blds 

uhps fn;s x, iz'uksa ds mÙkj nhft,& 

The table gives the percentage of marks scored by six students in 
different subjects. The total marks in each subject is also given with 
the subject. 

rkfydk esa N% fo|kfFkZ;ksa }kjk vyx&vyx fo"k;ksa esa izkIr vadks dks 

n'kkZ;k x;k gSA izR;sd fo"k; ds lkFk ml fo"k; dk dqy vad 

fn;k x;k gSA 

 
58. What is approximate overall percentage obtained by  
Charu in the examination ? 

ijh{kk esa pk: }kjk izkIr dqy feykdj izfr'kr yxHkx D;k g\ 
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(1) 78 (2) 69 (3) 75 (4) 71 (5) 65 
59. The marks obtained by Ankur in Geography are  
approximately what percent of the marks as it is obtained  
by Kalpana in Hindi ? 
vadqj }kjk Hkwxksy esa izkIr vad] dYiuk }kjk fgUnh esa izkIr vad dk fdruk 

izfr'kr gSaA 

(1) 45 (2) 33 (3) 50 (4) 60 (5) None of these 
60. What is the overall percentage of marks obtained by  
Kalpana in History andGeography together ? 
dYiuk }kjk bfrgkl vkSj Hkwxksy esa dqy feykdj izkIr vadksa dh  

izfr'krrk D;k gS\ 

(1) 73.40  (2) 71.80 
(3) 70.50  (4) 68.80 
(5) None of these 
Directions (61–65) : In the following questions two  
equations number I and II are given. You have to  
solve both the equations and give answer. 

uhps fn;s x, izR;sd iz'u esa nks lehdj.k I ,oa II ds :i esa vafdr 

gSA nksuksa lehdj.kksa dks dks gy djsa mÙkj nsA 

(1) x > y (2) x    y 

(3) x < y (4) x   y 

(5) x = y or the relationship cannot be established 
;k laca/k LFkkfir ugha fd;k tk ldrkA 

61. I. x2 – 11x + 24 = 0 

II. 2y2 – 9y + 9 = 0 

62. I. x3 × 13 = x2 × 247 
II. y1/3 × 14 = 294 ÷ y2/3 

63. I. 10/7

4/7 4/7

12 ' 4 3 ' 4
x

x x
    

3II. y 788 999   

64. I. 500x 402 0    

II. 
1/2360y (200) 0    

65. 
2I.(17) 144 18 x    

II. 
2(26) 18 21 y     

Directions (66–70) : In each question below, a  
number series is given in which one number is  
wrong. Find out the wrong number. 

uhps fn, x, izR;sd iz'u esa ,d la[;k Ükzà[kyk nh xbZ gSA izR;sd 

Ükaz`[kyk esa ,d la[;k xyr gSA fuEu esa ls xyr la[;k Kkr djsaA 

66. 484 240 120 57 26.5 11.25 3.625 
(1) 240 (2) 120 (3) 57 (4) 26.5 (5) 11.25 
67. 3 5 13 43 176 891 5353 
(1) 5 (2) 13 (3) 43 (4) 176 (5) 891 
68. 6 7 16 41 90 154 292 
(1) 7 (2) 16 (3) 41 (4) 90 (5) 154 

69. 5 7 16 57 244 1245 7506 
(1) 7 (2) 16 (3) 57 (4) 244 (5) 1245 
70. 4 2.5 3.5 6.5 15.5 41.25 126.75 
(1) 2.5 (2) 3.5 (3) 6.5 (4) 15.5 (5) 41.25 
Directions (71-80) : Read the following passagecarelully and 
answer the question given. Certain words/phrases have been 
given in bold to help you locate them while answering some of 
the questions. 
Tastes have changed in the land of traditional tea drinkers. A generation 
ago few Japanese had sampled coffee by the cup, let alone by the 
tubfull.Now Tokyo alone has some 16,000 coffeehouses; the nation, more 
than 100,000. Japan‟s yen for coffee requires plenty of yen these days the 
equivalent of $1.50 a serving. For those who find indoor prices too steep, 
platoons of curb side vending machines dispense coffee for about 50 cents 
a can, hot or cold according to the season.From humble beginnings as 
both food and drink for African tribesmen, coffee evolved into a global 
phenomenon of extravagant proportions. Among natural commodities in 
international trade, coffee usually ranks second only to petroleum in dollar 

value, accounting for 12 billion in 1979. All 50 exporting countriesled by 
Brazil, Colombia, Indonesia, and the Ivory Coast rely on coffee as a major 
source of foreign exchange. Some 25 million people depend on it for their 
livelihood and uncounted millions down it by the pot-full. This adds up to 
an amazing piece of action for apeanut-size bean whose sole purpose on 
this planet is to provide a virtually nutrition-less beverage made mildly 
stimulating by the caffeine it contains 75 to 155 milligrams per cup. Unlike 
Brazil, which grows a third of the world‟s supply some five million tons last 
year and drinks a third of what it raises, most producing nations consume 
coffee sparingly. The bean brings more leaving home than staying there. 
It‟s not their addiction to caffeine doses heavily sweetened and darkly 
brewed that gives Brazilians the jitters. Rather, it‟s the chilling thought of 
a killing frost, which, in 1975, damaged nearly half of the country‟s three 
billion coffee-trees and sent retail prices into orbit. Another such disaster 
loomed in June 1979. Frost had again hit southern Brazil. The loss of a 
single tree means the loss of income on that spot for the three to five 
years it takes to replace it. Multiply that by the 15 million trees, and you 
can appreciate the concern. At Pirajui, an hour‟s flight inland, the cold 
wave had already blackened large swatches of trees. Atalla‟s workers, 
blearyeyed, toiled into their third  
sleepless night, burning oil-soaked sawdust and saltpetre tosmudge 
vulnerable areas with warming smog. The Atallas, pioneers in this process, 
saw their efforts pay off in rescued trees. The only major export country 
susceptible to frost, Brazil, suspended all shipments pending assessment 
of damage and uneasy importers, fearing a shortage, went on  a buying 
spree. Inevitably, prices rose, even though Brazil‟s actual losses fell far 
below the first dire predictions.  
Several international experts summed up coffee‟s swings in much the 
same way. “We have long periods of low prices, short periods of high 
ones. When highs occur, farmers rush in to plant. Once the tree begins 
bearing, it churns out beans without too much effort for the 12 to 30 
years of its normal life. Overproduction follows; prices fall.Farmers tear up 
their plants and put in more stable crops. A disruption in coffee supplies 
starts the cycle all over again.”Producers and consumers agree that the 
only sensible solution is to limit output to what the market can absorb, 
plus a standby reserve, and sell at prices reasonable to both sides. But 
what‟s reasonable? Since 1963, 24 import and 44 export countries have 
cooperated through their London-based International Coffee Organization 
to stabilize the situation. By imposing a quota system, they can limit the 
outflow of beans from producing nations in times of oversupply. These 
controls, in force to sustain prices only until the market does so normally, 
have been applied twice: from 1963 to 1973 and again in October 1980. 
Despite yo-yo conditions and a 100 percent increase in living costs in the 
United States over the past decade, coffee remains one of the least 
inflated prepared beverages: five cents a brewit- yourself cup.  
71. Which of the following is most nearly the same in meaning as the 

word ‘APPRECIATE’ as used in the passage ? 
 (1) increase (2) applaud(3) praise  (4) welcome(5) understand 
72. Which of the following sentences is true in the context of the passage 

? 
(1) Prices of coffee remained relatively stable in the US despite the 

increase in cost of living in the country. 
(2) Coffee is losing its demand on account of its increasing  price 

worldwide. 
(3) Brazil is the only country that grows and exports coffee. 
(4) Only half the coffee manufactured is fit for export to other countries. 
(5) None of the given statements is true 
73. The characteristics of coffee as mentioned by author of the passage 

includes – 
(A) propensity to get addicted to it. 
(B) its high nutrient content. 
(C) its global economic standing. 
(1) Only A  (2) Only C 
(3) Both A and B  (4) Both A and C 
(5) All the three A, B and C 
74. Which of the following is most nearly the same in meaning as the 

word ‘DOWN’ as used in the passage ? 
(1) consume  (2) throw 
(3) fall   (4) lose 
(5) climb 
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75. Which of the following can be a suitable title for the passage ? 
(1) The History of Coffee Making 
(2) Brazil‟s Battle with Coffee Imports 
(3) Coffee Today - Gone Tomorrow 
(4) Plummeting Demand for Coffee the World Over 
(5) The Dynamics of Coffee 
76. Which of the following is most nearly the same in meaning as the 

word ‘DIRE’ as used in the passage ? 
(1) obtuse  (2) terrible 
(3) urgent  (4) torn 
(5) shredded 
77. Which of the following is most nearly the opposite in meaning as the 

word ‘STEEP’ as used in the passage ? 
(1) short (2) gentle (3) low (4) gradual (5) inclined 
78. Which of the following is most nearly the opposite in meaning as the 

word ‘SWINGS’ as used in the passage ? 
(1) slides (2) pendulum (3) stability (4) position  
(5) altercation 
79. In June, 1979, Brazil _______________. 
(1) Intentionally restricted the supply of coffee to other nations, thereby 

increasing the price of the commodity. 
(2) Faced a never before witnessed frost which destroyed all crops, 

propelling the country into economic turmoil. 
(3) Managed to contain a major disaster with respect to coffee production 

through its dedicated efforts. 
(4) Faced an unprecedented crisis with respect to coffee production on 

account of frost freezing all its crops. 
(5) None of the given options 
80. Which of the following is most nearly the same in meaning as the 

word ‘SPARINGLY’ as used in the passage ? 
(1) abundantly  (2) compellingly 
(3) attractively  (4) seldom 
(5) rarely 
Directions (81 - 85) : Read each sentence to find out whether 

there is any grammatical error or idiomatic error in it. The 
error, if any, will be in one part of the sentence. The number of 
that part is the answer. If there is no error, the answer is 5). (Ignore 
errors of punctuation, if any.) 

81. 1) In the current year,/ 2) small lenders, who global banks have/ 3) 
long sneered at, are performing/ 4) more better than the giants./ 5) 
No error. 

82. 1) The Central Bank has cut/ 2) its policy repo rate by fifty basis 
points/ 3) but only a few banks has/ 4) lowerd their base lending 
rates/ 5) No error. 

83. 1) Apart of not speaking up enough,/ 2) many professional do not 
think about/ 3) how asking different types of questions/ 4) can lead 
to different outcomes /5) No error. 

84. 1) With the exception of/ 2) music, no boarding process/ 3) has 
embraced globalisation/ 4) as keenly as the banking industry. /5) No 
error. 

85. 1) The bank‟s stringent on boarding process,/ 2) for new executives 
ensures/ 3) that they understand from other leaders/ 4) what it takes 
to success/5) No error. 

Directions (86 - 90) : Rearrange the following five sentences (A), 
(B), (C), (D) and (E) in the proper sequence to form a paragraph; 
then answer the questions given below them. 
(A) Basic human needs also include a sense of  
belongingness, a feeling of control over one's life. 
(B) Motivation and inspiration energize people into action. 
(C) Ability to live up to one's ideals besides all these is also a fundamental 

need. 
(D) This is done not by pushing them in the right direction  
as control meachanisms. 
(E) But it is done by satisfying basic human needs for  
achievement. 
86. Which of the following should be the Fifth sentence  
after rearrangement ? 
(1) A (2) C (3) D (4) E (5) B 
87. Which of the following should be the Second sentence  
after rearrangement ? 

(1) A (2) B (3) C (4) D (5) F 
88. Which of the following should be the third (Last)  
sentence after rearrangement ? 
(1) A (2) B (3) C (4) D (5) E 
89. Which of the following should be the First (Last)  
sentence after rearrangement ? 
(1) A (2) B (3) C (4) D (5) E 
90. Which of the following should be the Fourth sentence  
after rearrangement ? 
(1) A (2) B (3) C (4) D (5) E 
Directions (91–100) : In the following passage there are blanks, 
each of which has been numbered. These numbers are printed 
below the passage and against each, five words are suggested, 
one of which fits the blank appropriately. Find out the 
appropriate wordin each case. 
In these days economic liberalization, globalization etc. materialistic values 
have assumed ...(91)... importance. Money, physical comforts and 
luxuries are the most sought After aspects. There has been ...(92)... 
competition. Such competition ...(93)... undue stress. The stress leads to 
...(94)... of health of the people. Indian culture has ...(95)... its striking 
uniqueness, as against the Western culture in the fact there is ...(96)... 
place for spiritualismin the value system in all walks of life. The spirituality 
is a very ...(97)... force which helps us in maintaining our physical and 
mental health. It gives us ...(98)... to cope with the stress. Westerners 
have now ...(99)... the importance of spirituality and, therefore, they 
have started...(100)... us in the matter of spirituality.  
91. (1) usual (2) little (3) tangible (4) least (5) greater 
92. (1) critical (2) unhealthy (3) unequalled (4) no (5) absolute 
93. (1) releases (2) deserves (3) generates (4) demonstrates (5) 

suppresses 
94. (1) neglect (2) illness (3) generation (4) deterioration (5) 

encroachment 
95. (1) maintained (2) illustrated (3) marginalized (4) bestowed (5) 

forsaken 
96. (1) vast (2) brief (3) formal (4) clean (5) distinct 
97. (1) dormant (2) dedicated (3) vital (4) common (5) dynamic 
98. (1) strength (2) tips (3) clearance (4) sermons (5) ideals 
99. (1) informed (2) narrated (3) intensified (4) realized(5) invented 
100. (1) encouraging (2) imitating (3) blaming  
 (4) preaching (5) assuming 
 
 
 
  
 
 
 

  


